Warm Up 3/28/19
PICK UP ON THE STOOL

1.) Two functions are shown: f(x)=1/2(2)*
g(x)=5x + 2

What is the largest integer value of x such that f(x) < g(x)?
2.) The width of a rectangle is 3/4 its length. The perimeter

of the rectangle is 420 ft. What is the length, in feet, of the
rectangle?






Expmential Growth
Occurs when a quantity lncrﬂ@ by the same rate over time.
a= \ﬂ\" -Ql\ VQ'QQ/

y=a(l+r) e P
t=_TiMe,




1. original value : an investment ls@nd the value increases year. Write an
ﬁﬁd r nction to model This situation. Then, find the value©f the investment after
rs.




o

The cost of tuition at a college ind is increasing at a rate oach year. Write an

exponential growth function to model this situation. Then, find the tuition cost after 4 years.

Step 1: Identify a, r, and t.

A=

e

2 , 000

R (percer!t to decimal) = (923 —% o OLQ
Ty

Step 2: Plug values into formula y=a(1 + r).

Y=)2000(1.00)t

Step 3: Solve for y. ['31 15,149 .77_l




3. The number of student athletes at a local high school i @ : :
year. Write an exponential growth function to model this situation. Then, find the number of
student athletes a Is.
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The cost to attend the (Jhiversity of North Caroliha
at Chapel Hill inCreases oh average 6.5% per Year.
I, -

Tuition and Fees Trend - University of North Carolina at Chapel Hill
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Exponential Decay

[Exponential DecayJ
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Eam o f,ﬂ, ALCIBASLS 4, the some rate over time
.= \Nrhal valul.

y=a@-r - Yute

t=_tIMN2

Key Words:

Decreasing, depreciates, loses less than 1
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7. The population of a town is Eecreasmaiat a rate o. pel year. In 2000 there wer
people. Write an exponentia ecay function to model this situation. Then, find the population

in 2008.

Step 1: Identify a, ; and t.
A= | 300
R (percents to decimals) = | ?o —= ). ) \

=18

Step 2: Plug values into formula-- y=a(1 - r)*

5~. 300 (| - oo\
1200 (0.99%

1199 pesply

Step 3: Solve fory.
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8. The value of a car is/418,000 »nd at a rate per year. Write an exponential
decay function to motetrthis situation. Then, find the value of the car aftars.

Step 1: Identify a, r; and t.

A= Jp|B, OO0
R (pEI‘CEI,ltS to decimals) = O, IZ

=10

.l'

Step 2: Plug values into formula-- y=a(1 - r)t

Y 12000 (o, R)'©

e | P5OB.02)







